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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

6500 - ECO

6000

5500 -

5000

4500

4000 -

3500 OEC’] is missing

35 40 45 50 55 60 65



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-3

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS ERF

07:15 273 150.0 2.583 E(  FiHRe07:15 KREFEF CGRAEREEE)
07:55 273 150.0 2.583 = FiHFe07:55 REIEF (REAEZBE)
09:00 273 150.0 2.583 FA| HA@09:00 KENFZF (KRAAIREE)
09:50 273 150.0 2.583 FA| FHR@09:50 KREIZHF (RALER)
10:30 273 150.0 2.583 BH| FhHA@10:30 KEIF2F (RAEREE)
11:10 273 150.0 2.583 BH| FhHAe11:10 KREIEF (REAERSE)
11:45 273 150.0 2.583 FR| FhHR@11:45 KRHMIEHF (RAKLESR)
12:20 273 150.0 2.583 FA| FnHA@12:20 KRFEF CRAERS)
12:55 273 150.0 2.583 BH| FhHAe@12:55 KENF2F (KRAEREE)
13:30 273 150.0 2.583 FA| hHR@13:30 RHMIZHF (CRAKLESR)
14:05 273 150.0 2.583 FA| FnHA@14:05 KRENFEF (RAEHS)
14:45 273 150.0 2.583 BH| FhHAe@14:45 KHEIEF (REAERSE)
15:25 273 150.0 2.583 FH| FnHR@15:25 KEIFZF (REERSE)
16:10 273 150.0 2.583 FA| FiHA@16:10 KREFEF (RAEHS)
17:10 273 150.0 2.583 BH| FhHA@17:10 KREF2F (RAHEREE)
23t]4095.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

#HEKRECE (1773.0 vs 3850.0) id 5
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P3-3

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

08:35 273 150. 0 2.583 E  1BRi&e08:35 Bzl (RAERE)
09:15 273 150.0 2.583 5| {Ri%e09:15 Bz (FRAERSE)
10:00 273 150.0 2.583 =l RRi80@10:00 Bz (RFAKEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:20 273 150.0 2.583 =l RiB011:20 B3 (REAEESE)
12:00 273 150.0 2.583 =l {Rige12:00 B3 (RAERSE)
12:40 273 150.0 2.583 Sl {Rige12:40 B3 (REAERSE)
13:30 273 150. 0 2.583 E| {Rig@13:30 B3h (RE{ERSE)
14:15 273 150.0 2.583 E BRige14:15 Bz CGRAERESE)
15:05 273 150.0 2.583 S| {Rig@15:05 B3 (RAERSE)
16:00 273 150. 0 2.583 El BRige16:00 Bzl (GRAERESE)
17:05 273 150.0 2.583 E| {Rige17:05 Bzh (RE{EREE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1780.0 vs 3600.0) d 5
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P3-3

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

07:10 300 150. 0 2.583 E BRi&e07:10 Fzh CGRAEREE)
08:00 300 150.0 2.583 5| {Ri%@08:00 F 3 (FFAAERSE)
09:15 300 150.0 2.583 = RRiB009:15 Fzh (RFAEEE)
10:10 300 150.0 2.583 =l RRiB@10:10 Fzh (REAKEE)
10:55 300 150. 0 2.583 El 1BRi&010:55 Fzh CGRAEREE)
11:40 300 150.0 2.583 =l Rige11:40 Fz (RAERSE)
12:25 300 150.0 2.583 Sl {Rige12:25 Fz (RAERSE)
13:10 300 150. 0 2.583 E| {Rig013:10 Fzh (GREERSE)
14:00 300 150.0 2.583 E BRige14:00 Fz1 CGRAERESE)
14:55 300 150.0 2.583 S| {Rige14:55 F3 (KRAERSE)
15:55 300 150. 0 2.583 E  BRi&e15:55 Fz1 (GRAERERE)
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24t 3600.0 (12%) 1800. 0 32 KEC: 2080.0, PH: 6.0
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P3-3

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:55 273 150. 0 2.583 E  1BRi&e07:55 Bzl (GRAERE)
08:35 273 150.0 2.583 5| {Ri%@08:35 Bz (FAAMERSE)
09:30 273 150.0 2.583 = {RRi8009:30 B (RFAEEE)
10:15 273 150.0 2.583 =l RRiB010:15 Bzh (REAEEE)
11:05 273 150. 0 2.583 5 {Ri%e11:05 Bz (RAERSE)
12:00 273 150.0 2.583 =l {Rige12:00 B3 (RAERSE)
12:35 273 150.0 2.583 S| {Rige12:35 B (REAERSE)
13:10 273 150.0 2.583 (£=| {Ri%e13:10 Bz (RAEZSE)
13:45 273 150.0 2.583 (Z=| 1Ri&@13:45 Bz (RAEHRSE)
14:30 273 150.0 2.583 (Z=| 1Ri%e14:30 B3 (REAERSE)
15:20 273 150. 0 2.583 |Z=| BRige15:20 Bz (RAERESE)
16:20 273 150.0 2.583 (Z=| 1Ri%e16:20 Bz (FAMEHSE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (273. 0) 1%, AR T % AREERS 2 X ER
2RI\ L PRIERE330. 0 ml.
#HEHECE (1907. 0 vs 3900.0) i35
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150 = ——— ]
VI, VO, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1931 | 2000

64452 ~
1007 1200 1900
- 1000 —
50 4580 70417
196 Warning: lcol [FVI',| "FVO’'] missing 0 500
0+ -0

400 FRV

200 A - 20

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @68 01:45: ET=1275 Fg=1500.0 Ro=210.0

- 2000
200

- 1000
100 -

ET (ml/hr/plant)
Y A o - A

=" & —————
0 [ 1 2 | 3 [ a5 6] 789 JtoJit[12]@[14]15[16][17[ 18] 1920212723
M IZZ|25 |22 (27| B | B [BE [ BF | B | B [BF [ BF | B | B [ S [ BF | RE | B [ R [ BF | B | B
1 - 2000
ByEt @D65 19:22: ET=1526 Fg=1314.0 Ro=nan ! —o—o o
o

300

200

- 1000
100 -

ET (ml/hr/plant)

Y e —
0 | 1] 2
300

3| 4[5 [ 6 [ 7T 8T 9o 1213141516 [17[18]19]20]21 22723
B 2727|2527 |22 (BB [ B | B | B | B |[ZZ(ZZ(27 (255|255 | B | B || B [ B | B

]
ByWoFv @D68 01:45: ET=1552 Fg=1800.0 Ro=371.0 ® - e— a—

111 f
1'0_t;;;"

0 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23
sl W Z%% B % | B (522715715222 | % 5= % | & | @&

- 2000

200

100 -

ET (ml/hr/plant)

I Py e R

M
®
M
®
M
®
M
®
M
s
I
s

0.6

0.4+

0.2~

2000 1 _— 4
| _obs
PPFD_obs

RH
RH_obs
RHo _obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=520, FV0=0 m=535, FV0=0 m=660, FV0=0

50 1467 o wE 15.01 o e 1467 o wE
14. 9 - 14.5 1
14. 4 - 144l
14.5 - e :
14.3 -
14.2 1
14.7 1
14.0 7 14.2
14.0 1407 14.1 1
13.5 1 —@—
M_E 14.5 - 14.0 -
T T T T T T T T T T T T T
600 800 1000 1200 520 525 530 555 560 565 660 665 670
m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0 m=905,m FV0=0
1481 o e 1481 o e 1467 o e 1451 o e
14.7 1 14.7 - 14.5 - 14. 4 -
14.6 -
14.6 - 14. 4 - 14.3 -
14.5 -
14.5 - 14.3 1 14.2 -
14. 4 1
143 14. 4 - 14.2 1 14.1 1
14.2 1 14.3 - 14.1 - 14.0 -
T T T T T T T T T T T T
720 725 730 780 785 790 840 845 850 905 910 915
m=960,m FV0=0 m=1100m FV0=0 m=1165m FV0=0 m
1467 o wmE 13.80 1 —o— ME | 14754+ —— ME 23 1 —— MW
14.51 13.75 - 14.50 - 22
21 -
14. 4 14.25 1
13. 70 - 20 -
14. 3 14. 00 -
13. 65 - 194
14.2 13.75 -
18 -
14.1 1 13. 60 - 13. 50 -
960 965 970 1100 1105 1110 1165 1170 1175 600 800 1000 1200
m=520,m FV0=0 m=555,m FV0=0 m=660,m FV0=0 m=720,m FV0=0
22.004 —®~ MW 23.04 —®— MW s sl & MY gl O MY
21.75 7 20. 2 20. 4
22.5 -
21.50 ~ 20.0 - 20. 2 -
21. 25 A 29 0 4 19. 8 20. 0 A
21.00 1 19. 6 - 19. 8 -
i 21.5 -
20.75 19.4 - 19.6 -
520 525 530 555 560 565 660 665 670 720 725 730



m=780, FV0=0

20.0

19. 8 ~

19.6

19. 4

—o—

M_W

780

7é5
m=1100m FV0=0

T
790

17.90 -

17. 85 ~

17. 80

17.75 A

17.70 ~

—— MW

T
1100

T
1105

T
1110

19.

19.

19.

18.

18.

18.

18.

19.0 ~

18.5 A

18.0 4

17.5 4

m=840, FV0=0

10

05 A

00 -

95 A

90 -

85

80

—— MW

T
840

8&5 860
m=1165n FV0=0

—o— MW

T
1165

T T
1170 1175

m=905, FV0=0
18. 40 A
18. 35 ~
18. 30 ~
18. 25 ~
18. 20 ~ MW
T T T
905 910 915

m=960, FV0=0

18.6

18.5 A

18. 4 4

18. 3 A

18. 2 4

18.1 4

—0—

M_w

960

T
965 970




hour

:00 -

105 -

210 -

15 -

140

140

140

140

:50

:30

A
&

)@\

&
& Qg\

100

80

- 60

- 40

20




P3-3

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS ERE

08:40 273 150. 0 2.583 Z| 1Rig008:40 Bzh (REERESE)
09:40 273 150. 0 2.583 (Z=| {Ri%@09:40 Bz (FRAMERSE)
10:40 273 150.0 2.583 |Z=| 1BRi&010:40 Bzh (GRAEEE)
11:40 273 150.0 2.583 FA| {Ri%@11:40 Bz CGRAERE)
12:50 273 150. 0 2.583 FA| {Ri%@12:50 Bz (GRAERESE)
14:30 273 150. 0 2.583 PH| {RiZe14:30 Bz (KRAEFERSE)
Bit]1638.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2007.0 vs 4270.0) 35
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